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INSTRUCTIONS

Candidates should read the following instructions carefully before answering the questions:

1. This question paper contains 50 MCC() type objective questions. Each question has four answer options given,
viz. A, B, C and D. ’ - '

2. Only one answer is correct. Correct answer will fetch full marks 2. Incorrect answer or any combinations
of more than one answer will fetch — % mark. No answer will fetch 0 mark.

3. Questions must be answered on OMR sheet by darkening the appropriate bubble marked A, B, C, or D.
4, Use only Black/Blue ball point pen to mark the answer by complete filling up of the respective bubbles.
5. Mark the answers only in the space provided. Do not make any stray mark on the OMR.

6. Write question booklet number and your roll number carefully in the specified locations of the OMR. Also
fill appropriate bubbles,

7. Write your name (in block letter), name of the examination centre and put your full signature in appropriate
boxes in the OMR.

8. The OMRs will be processed by electronic means. Hence it is liable to become invalid if there is any mistake
in the questions booklet number or roll number entered or if there is any mistake in filling corresponding
bubbles. Also it may become invalid if there is any discrepancy in the name of the candidate, name of the
examination centre of signature of the candidate vis-a-vis what is given in the candidate’s admit card. The
OMR may also become invalid due to folding or putting stray marks on it or any damage to it. the
consequence of such invalidation due to incorrect marking or careless handling by the candidate will be sole
responsibility of candidate.

9. Rough work must be done on the question paper itself. Additional blank pages are given in the question
paper for rough work,

10. Handover the OMR to the invigilator before leaving the Examination Hall.
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MATHEMATICS

1. The expenditure of a household on consumer
goods, C, is related to household’s income Y, in the
following way: when the household’s income is
Rs. 1000, the expenditure on consumer goods is
Es. 900 and whenever income increases by Rs. 100, the
expenditure increases by Rs. 80. Assuming linear
relationship, the expression of expenditure on consumer
roods as a function of income is

{A) C=0.9Y + 100
{B) C=0.8Y +900
{C) C=0.9Y +900
(D) C=0.8Y + 100

2. If the relation between success in an admission
test () and effort given by you (x) is related by a
function, ¥ = x° — 3x, which of the following graphs
depict the relation between success and effort?

15

]
I

5

3, If f{x) =" + 2x, compute lim___ PACINAC)] (J':: : i (a)
(A) 2a+2
{(B) a+1
C) a+2
(D) a-2

1. <% AR (e 5, C, 99 & 496 & Al
W, Y, 93 A FEAReerE T=iiFe: 399 § <
WA Rs. 1000, 599 & «fEanag coisiEcas Beg 496
Rs. 900 <38 E4R% WA Rs. 100 #ifF=ie i #irg, ceis T
% #I1 Rs. 80 <0 | v (150 FCE=0 @243 08 WG ACA
GTB FEEEEE WS WS ¢ 400 o, 9F
TR 2728

(A) C=0.9Y + 100
(B) C=0.8Y +900
(C) C=09Y +900
(D) C=0.8Y + 100

2. 2t B S AT A (y) IR (oI A5
(x) G0 TATT y =20 - 3x TSN AP T 41, OHEE
e I Gibals ArFeT @ ATBeE W TG TE

(A)

3. 4 f{x) =x° + 20 TW, ©IFA lim, M
9 T TR e
(A) 2a+2
(B) a+1
{(C) a+2
(D} a=2
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4. Let v= flx) be an exponential function with base
a, ¢.g, flx) = &, o5, Show that for any two real

numbers XX

(A) Aix, +x,) = flx)) +fix)
(B) flx, + x,) =flxx,)

(©) ox, +xy) = fox ixy)
(D) fix, +x) =fx)) - fix)

5. The domain of the function f(x) = xlx—l is
(A) -l1=x=<1
(B) x=1
©) x#il
(D) x=1

6. The two eguations x>+ x 4+ a = 0 and
+* + ax +1 =0 have a common root for
{A) one particular value of *a’
(B) any value of ‘a’
{C) two particular values of ‘o’
(D} three particular values of ‘a’

7. For what value of ‘g’ is the function
_Jax-Lforx=l
f[I)—{3x1 +1,forx=>1

continuous for all values of x
(AY a=2

{(BY a=35

(C) a=10

(D) a=20

dx
8. Compute dp for the function

x=b—.Jap—c where g, band ¢ are positive constants

and p > cfa
a

A "3 fmpe
®) 3fapre
(C) ‘ﬁ
Gy
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4. = TF y = fix) 9T GEATFARTR SAES 99
4R 27 o; TuREmEd fi) =a', g, IS @, @
CRRICAT 6 <1 AT x| 9= x, 9% &

(A) flx, +x) = flx)) + fix,)
{B) f{xl + x",,) = flx,x)

(C) flx, +x) =fix)fx)
(D) flx, +x,) =flx,) - fix,)

5. () = 7 & AR o

(A) -1<x<1
By x>1
(C) x==+1
(D) x=l

6. T ATFET 22+ x + 0 =093 2 + ax +1 =0 9G]
=i At Je A

(A) ‘e’ 9T 9T RT<E AT T
(B) ‘a’ = (A (FA INAT &)
(C) ‘e’ 93 b R g &)
(D) ‘e’ 97 fealb {oE T &=

7. ‘o' 99 @[ WD B FEERES e, cag
EA AN T AFS 2

_jax—1, 92w x =1
J {x]‘{zx" +lam x>
(A) a=2
By a=5
{C)y a=10
(D) a=20

S. Jc:b-.,ll'ap-c, T4 a, b O ¢ T YA F9E
99 p > cfa, T(E TETFEA j—; E1c]
— g
(A) 2Jap—c
—a
(B) 2jap+ce
-
(C) 2Jap+c
—a
(D) 2Jap-c




s

d-L 1
9, dedz WhEanJﬁt_—l

(A) 32t-1)"

(B) 3(2e+1)7"*
© - -1

@) -3~

10. Iftherelation betweenrate of growth of investment
{Ig] in agro-farming and market rate of interest (1) is

rforrsl

rfor r=l1 then

given by {8= {

(A I is continwous and not differentiable at
transumn point of

(B) Ig is continuous and differentiable at
transition point of r

(C) Ig is continuous at its transition point of r

(D) I is not continuous but differentiable at
Lmnsumn point of r

11. Let y= f(x}M-j— and A-—X. When A is

increasing, the relation between M and A will be
(A} A>M
(B) A=
(C) A<M
(D) AzM

12, Consider a function w =f{x, v, z). If xincreases by

1 unit w increases by 15 units, if ¥ falls by 2 units w
increases by 5 units and if z falls by 6 units w falls by 1
unit. Now suppose that in a given situation x, y and z all
increases by 3 units, 20 units and 2 units respectively.
What is the net change in w?

(A) =11

(B) 1

{C) 101

(D) 89

oY ‘;f‘ @5 9 AT ==

9, T L = m

(A) 3(2=1)""
(B) 3(2e+1)7"?
(C) -—(Ef 1)

(D) - EKEE—T}' *

10. % g dics Rt e 29 (1) <R @

O AR () T T fg= lr: T o]

w4, a7 #R=EEa RS (Transition Point)
(A) 1 77T, g GG T

(B) 1 306 q3% WA

(C) 1 wEs

(D) 1 wTe e swagmmE

11 @ T y= M =L g 4=2. arem

waqﬁ%m@*ﬂmuﬂaafﬂawﬂ“’éﬁm
(A) A>M
(B) A=
(C) A<M
(D) AzM

12. 49 <=6 TATS T w = flx, y, 7). W v G G0
I A, =@ w, 15 a9 9 «im; 1 y, 2 96 3w
G w, 5 T I A @R A 7, 6.9 ZA A O w,
1 95F 3F «1 | O3 AR 1 x y 93t 7 FEEE
QUG 3 9FF 20 <FF G972 2 95 (3 9% <1, O w
a7 A5 wAfEdn was '

(A) =11
(B) 1

(C) 101
(D) 89
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13. Consider the differential equation
%zﬁx:’ —-9x+100, where y = 10 at x = 0. Find the
value of yat x = 10

(A) 2560
(B) 2530
(C) 610
(D} 2570

14. A manufacturer of a cable line faces a cost
function C=0.1x" —0.25x% + 300x + 100 (in Rs.), where
xis the level of production. The effect on total cost of an
increase in production from 6 to 6.1 units will be

(A) Rs. 10

(B) Rs. 6.16
(C) Rs.30.78
(D) Rs. 153.90

15. Consider the function: f{x) = —x* +2x + 3. The
function f (x) attains the maximum at the

(A) wvalue 4 when the curve is concave upward

(B) value 1 whenthecurveisconvex downward

(C) value | when the curve is concave upward

{D} wvalue4whenthe curve isconcave downward

16. Let K(r) denote capital stock of economy at point
t. Then net investment at time 7, denoted by (7), is given
by dK(0)/dt. If () = 3* + ¢ +5 (1 = 0), what is the total
increase in capital stock during the interval fromr=0to
r=357
(A) 130
(B} 160
(C) 175
(D) 200

II‘?. Using integration by parts evaluate
| xIn(x+2)dx.
’ (A) 3—% In3

(B) ::.'—‘E In3

(C) 2+%In3

(D) 2—%In3
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13. aweeEeE e L= 6xF ~9x+100 RUEE-T}

dx
=0T y=10ZH I FFEATH = 1094 y 9 T G
(A) 2560
(B) 2550
(C) 610
(D) 2570
14, G50 (&4 wileA AT A TS0 28 C

=0.1x — 0.25x% + 300x + 100 (FIF1F =0=), @40A x T
TeAmrm wAfaie | A% BeAM 6 (4w 6.1 936 &5 24,
ord AMfEE et g Affwsy g

(A) Rs. 10

(B} Rs. 6.16

(C) Rs.30.78

(D) Rs. 153.90

15. fix) = —x* 42x + 3 THF0 I AW FH TE
e TR DT
(A) 4932 TATFH CHICY IS
(B) 1 9% Worm<io (e waes
(C) 1 @9% wewab Ty ogea
(D) 4 99 AT ey Ses

16. GGG A5E 7 ¢ 02 @b s yoem K ().
T 16 &t 1), & AR 1 0o =E dR(/dr. T
=37 +145(02 0) W@ 1= 0 (F 1 = 5 ARG
JEATE (G e 2

(A) 150
(B) 160
(C) 175
(D) 200

17, oife  ATEHEa gfewr gEme $E

[xinCe+2)dy a1 Fefa =)
-1
_3
(A) 3 lI|;13
(B} E—Ein:i'
(€) 2+31n3

2
-3
(D) 2-5In3



13. A trust fund is being set up with a single payment
of “K’. This amount is to be invested at a fixed annual
rate ‘r". The fund pays out of fixed annual amount. The
first payment is to be made one year after the trust fund
was set up. What is the largest amount that can be paid
out each year if the fund is to last forever?

r
(A T
(B) rK?
(C) K

D) 42

19. What is the digit in the unit place of 55" 7
{A) 2
(B) 4
(C) 6
(D) 8

_ Alogy _
20. Given that Alogx =3 and log y = 1 when
logx = 0, evaluate the function relating x to y in natural

numbers
(A) vy=10x
(B) y=3x
(€ y=x
(D) y=10x°

21. Let us consider a function,

6x+% for O0=x<3
y=4x'+2 for 32x<6
10 for 6<x<10
The area under the curve for 2 £ x < 9 will be
(A) 133
(B)y 323
(C) 97
(D) 107

dx 5

1
i

. 1 L
22. For the function 2 = xI,7. the derivative

when 7 is a constant, 1s given by

X
R
®) -

() =

D)~

(7)

18, qEaTEm @= K a3 e e aafb 5
e AT reere g m R s =0 15 wief siw
T4 I 959 @ 99 (4TF 499 99 $491 T4 | Fed
IaaEe T TR Tdte o 2 <gm s 9
“AfErae] <=5 T AE? '

(A ¢
(B) rK?
(©) 1K
(D) g2
19, 5" 9T GFF FIE A T 7
(A) 2
(B) 4
(C) 6
(D) 8
Alo
20. a6 g7s @ Mﬁgﬂ 9% log y = 1 947
logx = 0 GCHGE x @32 y OF TG AE T 21
(A) y=10x
(B) y=3s
(C) y=x
(D) y=10+

21, 49 99 G0 ST
Gx+9 T Ogxe3
yedx+2 99 323 <6
10 T 6=x <10

2 < x £ 9 % WECE I G HTEE CREE TR

E1s]
(A) 133
(B) 323
(C) 97
(D) 107

22, 9z @&l ERRE T 2 = 43y
R B %xm

(A) 5

(B) =

(©)

™ ~3

WAEFO
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23. Find a point on the curve ¥ + 3* = 6 whose
distance from the line x + y = 7, is minimum

(A) (2,2)
(B) (1,0)
(© 21
(D) (0, 2)
a 1 0
24, Giventhematrix A= —Db —[}1 g . find numbers

@ and b such that tr (A) = 0 (given that tr(A) is sum of
diagonal elements).and |A] = 12.

(A) (g by=(d, -lyor{a, b)=(-1,4)

(B) (@ BY=(3, -2 or{a by=(-2,3)

(C) (0. Y=(2,-Dorla b=(-2,2)

(D) (a. b)y=1(2,-4) or (a, b)=(-4, 2)

25. Solve the equation

(A) x=-2orx=4
(B x=-3orx=2
{C) x=-2orx=5
(D) x=-lorx=35

26. Consider the following system of equations:
Y=C+1+G C=a+bY;I=f+¢),
where @ > 0,0 < b < 1. Value of ¥ and C are
(A (a+f+GW(l-b-e)anda+ b (a+f+GY
(1 —b—e), respectively
(BY a+bla+f+Gy(1-b-e)and (a+ f+ G)f
(1 — b — &), respectively
(Cy a+bla+fl-b—e)and a + b (g + G
(1 — b —e), respectively
DYyla+f+GW(1 -b-crand b (a+ f+ GV
(1 — & - ¢), respectively
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(8)

23, IF@A L2+ 3" = 697 Teig =l Famg Fefa waram

TG x +y = T AFAR (AT AGE T
(A) (2,2)
(B) (1,0
€y (2. 1)
(D) (0,2)

a 1 0
24, arﬁz'émﬁ?m=[_ﬂb 'Ul g] G99 ] ¢ T2 b T

T el T G tr (A) =0 9% |A] = 12 [(A) |
diagonal (3 T997) element 43 FE]

(A) (a B)=(4, -1)F¥= (a,. )= (-1, 4)

(BY (a. B)=(3,-2)99 9 (a0, b)=(-2,3)

(C) (o, b)=(2,-2)94 (a, b)=(-2,2)

(D) (a &)= (2, ) =Y (a, &) =(-4, 2)

l-x 2 2

2 1-x Ifr|=ﬂﬁwcfﬁ‘3wmmﬁcfﬂm

25,
> 2 2

(A) x=-29x=4
By x="39x=2
(C) x==291x=5
(D) x=—1Tx=5

26, Faie alim=md o, Y= C+ 1+ G: C=a + bY:
I=f+eY, 99 a>0,0<b< 1, (90 ¥ 998 C a9 aaaf
09 TYFA

(A) (a+f+ Gl -b—e)QF% a+bla+f+GY
(1-bh—¢)

(B a+bla+f+G(l-b—e)aTia+f+ GV
(1-b—e)

(C) a+bia+fWI-b-e)a@Ra+bia+ GV
(1-bh-¢)

(D) (a+f+ G ~b-¢)db(a+f+ G
(l-b-¢)



27. A police car, approaching right-angled
intersection from the north, is chasing a speeding SUV
that has turned the corner and is now moving straight
east. When the police car is 0.6 km north of intersection
and the SUV is 0.8 km east of intersection, the police
determine with radar that the distance between them and
the SUV is increasing at 20 kmvhr. If the police car is
moving at 60 km/hr at the instant of measurement, what
is the speed of the SUV?

{A) 50 kmvhr
(B) 55 km/hr
(C)y 70 km/hr
(D) 80 km/hr

28, Maya is 2 km offshore in a boat and wishes to
reach a coastal village which is 6 km down a straight
shoreline from the point on the shore nearest to the boat.
She can row at 2 km/hr and run at 5 km/hr. Where should
she land her boat to reach the village in the least amount
of time?

(A) 5 km
(B) 15km
(C) 43 km

(D) 4 km

29, When a metallic ball bearing is placed inside a
cylindrical container, of radius 2 cm, the height of the
water, inside the container, increases by 0.6 cm. The
radius, to the nearest tenth of a centimeter, of the ball
bearing is

(A) 1cm.

{B}Y 1.2 cm.
{Cy 1.5cm.
{Dy 0.8 cm.

(9)

27. i #{feicds 1S ey <=l SUV i ere =
e fies (e et il e weiis cives e e

Q3. SUV e ey Sfafie anef (i +f e 3

i ErE @S vF FEE | AR e R T 14
s sifelt e (2t 0.6 6l Term e SUV sl cig
02t 0.8 Tl 754, o b < Wy e w9t 20 Rl
a3 «ivz| 92 ey Sffarag aifel I o 9%m
60 fERT @st 51, SUV siifefos sife wo 7

(A) 50 &fi/a%

(B) 55 f=&fi/as

(C) 70 =fi/a%

(D) 80 fRfi/a% -

28, AE SRl «a d Qe T [@iew T
CTIRT < TR (T 2 T v < | gl v tafRe
G2, (TR FRTBTE Fhived (gl Bt Rl cares Bfag
ar=iG 6 &0 i3 | etE Y 2 i v s Rl st
WG F130% '@ 5608 #iTF | AL <9 7N A (Aizre =&
T %6 A (i FaE e

(A) 5=
(B) 15 &M
(C) 4/3 &Bf
(D) 4 B

29, 2. f. e 3o <9 GlerTs g @ b greg
T [Faifae g+ 2 #ag wed Ewel 0.6 (. [ 9w
AR | 4ied 7= FmifER gz e == (GFRte 9
TR A AT T L)

(A) 1T

(B) 1.2
(C) 1.5 .
(D) 0.8 . f.
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30, Atthe begining of 2016 my mother had a total of
Rs. 10,000 in two accounts. The interest rates were 5%
and 7.2% respectively, in 2016. My mother has made no
transfer during the year and earned a total of Rs. 676
interest. What was the initial balance in each of the two
accounts?

(A) Rs.6000at 5% and Rs 4000 at 7.2% interest
(B) Rs.B8000at7.2% and Rs 2000 at 5% interest
fC) Rs. 7000at 7.2% and Rs 3000 at 5% interest
(D) Rs.9000at 5% and Rs 1000 at 7.2% interest

31. Inabank principal increases at the rate of 5% per
year. In how many years Rs. 1000 will be doubled?

(A) 20 years
(B) 20 log 2 years
(C) 25 years
(D) 21 years

32. From 7 gentlemen and 4 ladies, a committee of 5
i5 to be formed. The number of ways, the task can be
done to include at least one lady, is

(A) 210
(B) 140 .
(C) 441
(D) 410

33. A firm produces 600 units in the third year and
700 units in the seventh year. What was the production
of the firm in first year?

(A) 660
{B} 530
(C) 420
(D) 500

PUBDETIZ/ECONOMICS

30. 2016 A GIFTS E T Gib 10,000 B 40
SFETS Tl {27 1 2016 Al 16 SURETS e 29 (&
YT 5% 9% 7.2%. WA T & I5E G IEED
C2IT6 BIE AR 3R 676 Bl 77 CAGICEA | SIEH T209d
AT (I SOFIETs T b &l fas 7

(A) 6000 5% A <= 4000 51 7.2% T4
EAc

(B) 8000BIH 7.2% 2T 992 2000 B 5% AR
L

(C) 7000TR=F 7.2% EI0E 495 3000 51 59 AT
E

(D) 900051 5% ZTE «=2 1000 51 7.2%7 074
A

31, 4= =iE Wi Bl A 5% 20 g oI | v
T57 <ita 1000 Srat Fed g2
(A) 20323
(B) 20 log,2 V&
(C) 253=4
(D) 21323

32. 7 O CHEAR S 4 T SHAEEE T4 (A0S 5 A
=G G s1om Tavs oA | e BN o TR afFe
208 ANE ANE TTOTH GFe THee] YRR, ©IF W
el

(A) 210
(B) 140
(C) 441
(D) 410

33, a5 =l goim = 600 9T 4% AW T
700 &% Tesima =i | 2499 TE FIEE Seoivm fEm—
(A) 660
(B) 550
(C) 420
(D) 500



(1)

34. Two varictics of tea priced at Rs. 1000 per
kilogram and Rs. 3000 per kilogram respectively are
mixed together in a proportion 2 : 3. What is the price of
the mixed variety?

(A) Rs. 2200 per kilogram
(B) Rs. 1800 per kilogram
(C) Rs. 1666.67 per kilogram
(D) Rs. 200 per kilogram

35. In how many ways can 6 men and 4 women be
seated in a straight line so that no two women are seated
together?

{A) 604800
(B) 604000
(C) 600000
(D) 602800

34. 2o Fie 1000 B 975 3000 Bl %02 [H= B
2 : 3 SRS G 205 26 (e B Biras v Fe 7
(A) afs g 2200 5w
(B) s =& 1800 Biel
(C) =S &f& 1666.67 B
(D) =fs e 200 =

35, 6% 79 @ 45 e b AEErice weem
T I0S #IId AI0S 9= Wieal Ar=iif = =1
(A) 604800
_ (B) 604000
(C) 600000
(D) 602800

ENGLISH

Directions (Q. No. 36-39): Fill in the blanks

36. Theincreasing interactivity emerging in the latest
computer systems means that the traditional view of the
computer as a
limiting.

of information is now unduly

(A) gleaner
{B) transformer
(C) processor
(D) cache

37. Those with a reputation for behavior

seldom inspire respect: unwavering adherence to a
viewpaint is more admired than flexibility.

{A) capricious
(B) bombastic
(C) dogmatic
(D) honorable

38. — behavior never has the effect its
practitioners hope for; the attempt to hide only draws
altention to what is hidden.

{A) Misogynistic
{B) Prudish
{C) Covert
(D) Miserly

39. When faced with an urgent problem for which
there is no immediately obvious solution, we tend (o
welcome any suggestion, however that might
throw light on the dilemma.

(A) flimsy
{B) hackneyed
(C) unusuval

(D) outrageous
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Directions (). NO.40-43): Read thefollowing passage
carefully and answer the questions

It is exceedingly difficult to make people realize
that an evil is an evil. For instance, we seize a man and
deliberately do him amalicious injury: say imprison him
for years. One would not suppose that it needed any
exceptional clearness of wit to recognize in this an act of
diabolical cruelty. But in England such recognition
provokes a stare of surprise, followed by an explanation
that the outrage is punishment or justice or something
else that is all right, or perhaps by a heated atempt to
argue that we should all be robbed and murdered in our
beds if such senseless villainies as sentences of
imprisonment were not committed daily. It is useless to
argue that even if this were true, which it is.not, the
alternative to adding crimes of our own to the crimes
from which we suffer is'not helpless submission.

Chickenpox is an evil; but if I were to declare that
we must either submit to it or else repress it by seizing
everyone who suffers from it and punishing them by
inoculation with smallpox, I should be laughed at; for
though nobody could deny that the result would be to
prevent chickenpox to some extent by making people
avoid it much more carefully, and to effect a further
apparent prevention by making them conceal it very
anxiously, yet people would have sense enough (o see
that the deliberate propagation of smallpox was acreation
of evil, and must therefore be ruled out in favour of
purely humane and hygienic measures. Yet in the
precisely parallel case of a man breaking into my house
and stealing my diamonds I am expected as a matter of
course to steal ten years of his life. If he tries to defeat
that monstrous retailation by shooting me, my survivors
hang him.

The net result suggested by the police statistics is
that we inflict atrocious injuries on the burglars we catch
in order to make the rest take effectual precantions
against detection; so thatinstead of saving our diamonds
from burglary we only greatly decrease our chances of
ever getting them back, and increase our chances of
being shotby the robber. But the thoughtless wickedness
with which we scatter sentences of imprisonment is as

PUBDETIZ/IECONOMICS

. nothing compared to the stupid levity with which we

tolerate proverty as if it were either a wholesome tonic
for lazy people or else a virtue to be embraced as
St.Francis embraced it. If a man is indolent, let him be
poor. If he is drunken, let him be poor. If he is not a
gentleman, let him be poor. If he is addicted to the fine
arts or to pure science instead of to trade and finance, let
him be poor. If he chooses to spend his wages on his beer
and his family instead of saving it up for his old age, let
him be poor. Let nothing be done for “the undeserving™
let him be poor. Serve him right! Also—somewhat
inconsistently —blessed are the poor!

40. The passage is most probably intended to

{A) serve as an introduction to a more detailed
discussion of poverty

{B) censureimprisonment asa punitive measure

(C) analyze the possible repercussions of social
evils

(D) continue a prior discussion of strong
measures against social evils.

#41. Ttcan be inferred from the passage that the author
would agree with all the following except
{A) tolerating poverty is at least as bad as
inflicting punishments on criminals
(B} sentences of imprisonment have little
success in reducing the crime rate in society
{C) it would be ridiculous to inoculate people
suffering from chickenpox with small pox
(D} if eriminals were not strongly punished for
their misdeeds there would be no law and
order in society.



(13)

42. Theauthor's argument aboutimprisonment would
be most weakened by showing that

(A) imprisonment is not widely regarded as an
act of cruelty

(B) chickenpox and burglary are not analogous
evils

(C) imprisonment does not cause malicious
injury

(D} a burglar who commits murder in self
defense wonld not be hanged

43. The author apparently believes that people at the
timme he wrote the passage were

(A) anxious to take the right steps (o ensure an
orderly society

{(B) too ready to judge other people unfairly
{C) inconsistent in their attitude to poverty

(D} in favour of unusually harsh punishment of
all offenders

Directions (Q. No. 44-46): Arrange statements A, B,
C and D in the correct logical order to form a
coherent paragraph

44, A. The main difference is that efficiency 15 a
ration but effectiveness is not

B. Butthey reach efficiency in a different way
than American businesses

C. The Japanese are very efficient and such
concepts as ‘justin time” are a witness to their efficiency

D. They reach efficiency through the route of
effectiveness.

(A) ABCD
(B) CBDA
(C) ADCB
(D) CDAB

45, A, To address the issue, the Government of
India has taken seriouns steps in the Eleventh Five Year

Plan.

B. The essential driver has been the shortage
of skilled workers due to a weak higher education
system,

C. It is difficult to sustain the growth
mamentum of the country and maintain competitiveness
unless problems with higher education are fixed.

D. Inthe last few years the education has been

the prime focus in India.
(A) BCDA
(B) ABCD
(C) BDCA
(D) DBCA

46, A, Vested interests are responsible for lack of
high quality goods.
B. India's bureaucracy is bad in terms of
efficiency.
C. On a scale of 0 to 10 of efficiency, India
scored a4

D. Fifty years of license policy has given rise
to vested interests
(A) BCDA
(B)y ABCD
(C) BDCA
(D} DBCA
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Directions (Q. NO. 47-50): For each of the following
sets of 6 statements, select the correct (logically
consistent) “3 statement chain” out of the four

available choices.

47,

4'3.

(A)

Emmunwe

All bees are ants
All ants are not bees
Ants are black

All bees are cheerful
All ants are cheerful
Bees are black

ADE

(B) BED
(C) ABE

(D)

ACF

Humans are not dumb

Some humans are not dumb
Mot all humans are dumb
Mot all humans are not dumb

Ramu is a human

ZmmonwyE

(A) EFA
(B) ACD
(C) EFB
(D) EFD

PUBDETI7Z/IECONOMICS

Ramu is not dumb

49,

50.

(

(B)
(C)
(D}

om0 m e

. Actors know English

. He does not know English
. He is an actor

. He is not an actor

. He knows Hindi

He should know English
ADB
AEF
DEA
ACF

All suns are white dwarfs
A few suns are red giants
Some red giants are suns
All white dwarfs are red giants

No red giant is a white dwarf
. No white dwarf is a sun

(A) BEF

(B) ADC

{C) AFC

(D) CEF

mmYQw P
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